7.5 Classwork (Day 2)-Joe Betters Page 1 of 2

Instructor: Joe Betters
Course: Pre-Calculus Pre AP (Master Assignment: 7.5 Classwork (Day 2) -
Course)

Student:
Date:

1. Establish the identity.

cos (a+f)

m= cot acot -1

Choose the sequence of steps below that verifies the identity.

(3 A, cos{u+P) cos ccos p- sin asin B cos acos  sin asin P

- - - - - . - - = cot ac -
sin osin sin asin P sin asin p  sin asin ot cccot f-1

() B. cos{a+P) cos acos B+ sin asin p cos acos B sin asin P
- - = - - =— - = - = got acot B—1
sin asin f sin asin sin asin §  sin asin B

O C. cos(u+P) cos acos B-sin asin p cos acos p  sin asin B

sin asin p cos o cos P COS 0GOS {3“ cos acos [

= cot acot f—1

{OD. cos(x+P) sin asin B+ cos ancos fp sin asin § cos acos f
sin asin p sin asin [ " sin asin B sin asin f

= cot acot f-1

2. Find the exact value of the expression.

tan ~ 122 -1 8
cOos | tan 5 cos 17

_412 8

-1
tan _ —_| =
CcO0S 5 cO0Ss 17

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression.)

3. Solve the equation,

cos O~4f/3 sin 6=1

What is the solution in the interval 0 s©<2x? Select the correct choice and fill in any answer boxes in your chaice below.

O A 9=
(Simplify your answer. Type an exact answer, using x as needed. Type your answer in radians.
Use integers or fractions for any numbers in the expression. Use a comma to separate answers
as needed.}

{3 B. There is no solution.
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1. cos(a+P) cos acos f-sin asin f cos acos P sin asin B
.= ” = - - = — - -— - = cot acot f—1
sin asin B sin asin sin asin B sin asin p
2, 220
221
4n
3. A 0= 0, 3

(Simplify your answer. Type an exact answer, using 7 as needed. Type your answer in radians. Use Integers or fractions
for any numbers in the expression. Use a comma to separate answers as needed.)
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